IEFRAS: 000012; 200012 IEFTRR: FIBA; HIB NS 2020-056
fiiZ#AXA%: 149079 (R WiFR: 20 B35 01

P E R ELARND AR A
ENEEFRIEITESVRNAE

AN B BFEF 2RI PRAENE R 0 Ak A e T, B AR
R MR R E R,

Hh ] T 3 AR T 0 B 2 1 56 1L e 2 S 45 I i 23 1T 2020 4R 7 H 6 HLATE
WERHIF. SP0BMET 2020 467 A 2 HUH TR AT ERER .
SV HEER 94, LPRHBEEF 4. ARSWHE (AFE) M (AR =
FEY WA HE . W bhid SRR U7 Al T PN

— U9 ERE, 0 ZERX, 0 EFNTRED T (KXTEEFMEAKE
B AUNSII=¥ (N EPP

AFTF 2019 4 10 A 10 H. 2020 45 H 21 HABIHEIF T 2019 45 VUK
e AR K 2 | 2019 4FAFEFE B R K4y, B WG 1 [m] WA i s PR o) o P ZE AR DG I 5%
2w 2T 2020 45 6 A 16 HAEH EUESR Bl 455 A FR ST R A "R A\ 5k
R PR LB RV ERS T4, VRS e UG, AR SRAH 3,108,196,163 AL
B4 3,070,692,107 fit. Tt, #EAHIDCHE, UK A RIEM BT ARG AR T
3,108,196,163 JuA& 5y A X 1T 3,070,692,107 JT.

RIE (R NRIEMEATE) (AFER) FAHKHE, 45600 ELhnE
Bl KT (AR R ACAFGTIET, JERAUAC N R 708 TR AR S B0 F
gz,

HAR N2V ILE H A AT B %R (www.cninfo.com.cn) (IR BEER (A
] BRSO R ) .

BRI S FRARAE 2020 A28 MU IRIG I I AR R 22 o i, IR HH R I AR K= I IBEAR
PR = 4> 2 — DL Bt

v U9 ERE, 0 ZERX, 0 EFNFTREELT (XTIFERS B A B~

510k 2 5



BRI R M B AR );

— HBI B D B B v B e ) B D

NIRRT R, WIEARLEEHTEE, MIGENINMY 27,160
TR E R R (Gl 2020 4 6 H 3 H, a5 e g sk i RS 5,768
JiJG, #ME 2,518 JiC.) XA, FRECGHAR A, 2 m AR o vHE R E
B2 AL P B A NI BT o5 ol

T SR HE R S N I REA B B B R AL, SR A F 4515 LK HE
TR AT ) R R AR Bt B T i o ) B S IOE 5 R0 S 22 R AR AR (A
W2 tHEN S 3 5 —— BV 5™ ) FE, 2wl 306 IR B o5 1 R F
SO AR AT JE S R

T VPN P KGR A SOME AT S B A F

IR B b B RO S B IR A M E AT R AR R S
e H Je B4 P R I8 i 28 = 7 PRAS LA X 2 58 s = ) 2 oA (B #E AT PEA, A ]
AR AR T U S PR 45 R BT IR 55 b 2

F, BRI A RUMERAT 2t E G, MRS AT R IR, Bt
P> 2020 4E 7 H-12 AT IAMEAEEL 110 Jic, nERIEL) 94 Jiot, (HEsH
5 LA BE o T3 it

= U9 ERE, 0 BRX, 0 BEFNFRRBE T (KXTBF 2020 FHEIUR
IRET AR R RS BYILER D

HF T T 2020 45 7 H 23 H A FF 2020 458 PY il AR K42

FEWE H PP (P EEZRHRO) . GEZFRR) . CEEIEZRR) . GIEZEH R,
(R K BRI RM (www.cninfo.com.cn) [UR§BER] (T HIT 2020
A58 DU I S 2R K 25 FR I8 R ) o

LA o
o [ e B AR AR AT BR 22 )

EOH =
—O=O%FtH+LH



